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1. 762=
(i) 700+60+2 (ii) 700+60 (iii)) 60+2 (iv) 700+2

2. 6000+ 700+ 10+ 7=
(i) 6707 (ii) 6727 (iii) 5717 (iv) 6717 (v) 16717

3. Write the Roman number for the given number : 506

(i) DIV (ii) DVI (iii)) DV (iv) DIX (v) DVII

4. Find the difference in place value of 4 in 6,527,414
(i) 398 (ii) 397 (iii)) 394 (iv) 396 (v) 395

5. Find the greatest number in the list :25 46 30 15 31 19 49 36 37 17
(i) 46 (i) 37 (iii) 19 (iv) 49 (v) 15

6. 40+ 1=
(i) -959 (ii) 31 (iii) 141 (iv) 51 (v) 41

7. Write the largest 6 digit number that can be formed with the digits : {5,8,2,4}
(i) 2,48,885 (ii) 8,58,482 (iii)) 2,85,848 (iv) 8,88,542 (v) 8,28,854

8. 9000000 + 400000 + 70000 + 4000 + 100 + 40 + 9=
(i) 9484149 (ii) 9474049 (iii) 9464149 (iv) 9475149 (v) 9474149

9. 700000 + 50000 + 7000 + 400 + 50 + 3=
(i) 757553 (ii) 757453 (iii)) 757443 (iv) 758453 (v) 757353

10. (38 +48) + (35 + 33) =
(i) 153 (ii) 157 (iii) 155 (iv) 152 (v) 154

11. Write the smallest 3 digit number that can be formed with the digits : {4,8,7,6,3}
(i) 346 (ii) 378 (iii) 467 (iv) 347

12. 7000000 + 100000 + 90000 + 7000 + 900 + 10 + 4=
(i) 72,07,914 (ii) 71,97,914 (iii) 71,97,814 (iv) 71,97,904 (v) 71,97,924

13. 20000 + 7000 + 400 + 50 + 1=
(i) 27,551 (ii) 27,461 (iii) 27,351 (iv) 17,451 (v) 27,451

14. Find the place value of 7 in 716,948
(i) 7,000 (ii) 70,000,000 (iii)) 7,000,000 (iv) 70,000 (v) 700,000
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60000 + 1000 + 400 + 90 + 4=
(i) 61,504 (ii) 62,494 (iii)) 61,394 (iv)

60,494 (v)

61,494

What is the difference between the largest and smallest number formed with the digits : 5,4,1,6 ?

(i) 5083 (ii) 5086 (iii) 5085

200+ 90 + 5=
(i) 395 (ii) 195

(iii) 295 (iv)

1000 + 400 + 60 + 4=

(i) 1,464 (i) 2,464

774 =
(i) 700+70+4

(if)

(iii)) 11,464 (iv) 1,454

(iv) 5084

(v) 5087

1295 (v) -9705

700+70 (iii) 700+4

(iv) 70+4

(v) 464

What is the largest number that can be formed with the digits :5,6,7,8,17?

(i) 57186 (ii) 18675 (iii) 76815

Find the difference in place value of 8 in 48,98,673
7,92,003 (iii)

(i) 7,91,997 (ii)

7,92,001

(iv) 61587 (v) 87651

(iv) 7,92,000 (v) 7,91,999

Estimate the value of 9831 — 4904 to the nearest thousands by rounding off ?

(i) 500 (ii) 50000 (iii)

50 (iv)

Find the place value of 7 in 7,69,412
(i) 70,00,000 (ii) 70,000 (iii)

41,867 =

(i) 40000+1000+800+60+7

(v) 40000+800+60+7

7,000 (iv

5000 (v) 500000

) 7,00,000

(v) 7,00,00,000

(i) 1000+800+60+7 (iii) 40000+1000+800+7

Estimate the number 548 to the nearest tens by rounding off

(iy 560 (ii) 55

(iii)

5500 (iv)

550 (v)

540

(iv) 40000+1000+60+7



Assignment Key

1) (i) 2) (iv) 3) (ii) 4) (iv) 5) (iv) 6) (v)

7) (iv) 8) (v) 9) (ii) 10) (v) 11) (i) 12) (ii)
13) (v) 14) (v) 15) (v) 16) (iii) 17) (iii) 18) (i)
19) (i) 20) (v) 21) (iv) 22) (iv) 23) (iv) 24) (i)
25) (iv)
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